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void loop()

i
distance = digitalRead(pir};

if (distance==1)
{
digitalWrite (buzzer, HIGH);
delay(100); // Wait for 100 millisecond(s)
digitalWrite (buzzer, LOW);
delay(100); // Wait for 100 milliseccnd(s)
telss
{
digitalwWrite (buzzer, LOW);
delay(100); // Wait for 100 milliseccnd(s)

}

if (digitalRead (sw)==1)
{ digitalwrite (led, HIGH);
digitzlWrite (buzzer, HIGH);
delay(100); // Wait for 100 millisecond(s)
}
else
{digitalWrite (led, LOW);
digitalWrite (buzzer, LOW);
delay(100); // Wait for 100 milliseccnd(s)
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